Using the roundup() function

In the Disco spreadsheet, you may have found that changing the number of students coming to the disco to a number that doesn’t exactly divide by 50, causes the number of teachers needed to show as a decimal.
[image: ]
Using the roundup() function in the formula for number of teachers can solve this by rounding the result up to the nearest whole number.  The roundup() function needs two numbers to work: 1st what to round up; 2nd how many decimal places to round up to.  So, roundup(7.4, 0) will give 8.
But we need to use roundup() on an existing formula, =number_students/50.  So the final result will look like this:
=roundup(number_students/50,0)
[image: ]
[bookmark: _GoBack]Make sure that you have tried this with your model.  Test it out to make sure it works.
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6 Additional Information
7 Number of Teachers 6.14]
8 Cost per Teacher £20.00)
9 Total Number of People 313.14)
10 Cost per Drink £0.25| Posters are being used to advertise the disc| |
11 Cost of Posters £6.00) | one for their classroom, and there's one ext
12 Number of Posters 7.14] they cost £6 each.
13
14 Income
15 Number of tickets sold 307
16 Ticket price £2.50)
17 Total income £767.50|
18
19 Costs
|20 [Hire disco equipment £500.00] 1
21 Total Cost of Teachers £122.80]
22 Total Cost of Posters £42.84]
23 Total Cost of Drinks £78.29)
24 Paythe DJ £100.00]
25 Cost of the caretakers £30.00)
26 Total costs £873.93|
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6 Additional Information
7 Number of Teachers [=ROUNDUP(B15/50,0)
8 Cost per Teacher 20
9 Total Number of People =B7+B15
10 Cost per Drink 025 Posters are b| |
11 Cost of Posters. 6 || cost £6 each.
12 Number of Posters [=B7+1
13
14 Income
15 [Number of tickets sold [200
16 Ticket price 25
17 Total income =B15*B16
.Costs
e disco equipment [500
21 Total Cost of Teachers 788
22 Total Cost of Posters 11812
23 Total Cost of Drinks [=B10°89
24 Pay the DJ 100
25 Cost of the caretakers 20
26 Total costs =SUM(B20:B25) L
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